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CBSE NCERT Solutions for Class 6 Mathematics Chapter 7

Back of Chapter Questions

Exercise 7.1
1. Write the fraction representing the shaded portion.

(A)

(B)

T

L
Ty
WL
DD
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(G)
C &
(H)
(1)
(1)
b
Solution:

We know that a fraction is a number representing part of a whole.

Here, the numerator represents the number of parts shaded. The denominator
represents the number of equal parts into which the whole figure has been
divided.

Number of parts shaded
Total number of equal parts

Therefore, the required fraction =

(A)  The given figure is divided into four equal parts out of which two parts
have been shaded.

~ Total number of boxes = 4
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(B)

(C)

(E)
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Total number of boxes shaded = 2

. . __ Total number of boxes shaded 2
Therefore, the required fraction = ==
Total number of boxes -+

. . « Z
Hence, the required fraction is %

The given figure is divided into nine equal parts out of which eight parts
have been shaded.

» Total number of boxes = 9

Total number of boxes shaded = 8

; ; Total number of boxes shaded 8
Therefore, the required fraction = =-
Total number of boxes T

: 5 « B
Hence, the required fraction is =

The given figure has eight equal parts out of which four parts have been
shaded.

~ Total number of parts = 8
Total number of parts shaded = 4

- ; Total number of parts shaded S
Therefore, the required fraction = =

Total number of parts 8

. . |
Hence, the required fraction is .

The given figure is divided into four equal parts out of which one part has
been shaded.

= Total number of parts= 4
Total number of parts shaded = 1

. . Total number of parts shaded 1
Therefore, the required fraction = pars s = -
Total number of parts 4

. . w
Hence, the required fraction is Y

The given figure is divided into seven equal parts out of which three parts
have been shaded.

~ Total number of boxes = 7

Total number of boxes shaded = 3

. . Total number of boxes shaded 3
Therefore, the required fraction = — ==
Total number of boxes 7

Hence, the required fraction is %
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The given figure is divided into 12 equal parts out of which three parts
have been shaded.

~ Total number of flowers = 12

Total number of flowers shaded = 3

; ; Total number of flowers shaded 3
Therefore, the required fraction = =—
Total number of lowers 12

n - o |
Hence, the required fraction is =

The given figure is divided into 10 equal parts out of which 10 parts have
been shaded.

+ Total number of pencils = 10

Total number of pencils shaded = 10

. . Total number of pencils shaded 10
Therefore, the required fraction = . =
Total number of pencils 10

G 5 « 10
Hence, the required fraction is =

The given figure is divided into nine equal parts out of which four parts
have been shaded.

» Total number of triangles = 9

Total number of triangles shaded = 4

- . Total number of triangles shaded i
Therefore, the required fraction = & = -
Total number of triangles @

Hence, the required fraction is ;“

The given figure is divided into eight equal parts out of which four parts
have been shaded.

= Total number of petals = 8
Total number of petals shaded = 4

. . Total number of petals shaded 4
Therefore, the required fraction = P = —
Total number of petals 8

Hence, the required fraction is g

The given figure is divided into two equal parts out of which one part has
been shaded.

= Total number of parts = 2
Total number of parts shaded = 1
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Color the part according to the given fraction.

(A)

(E)

Therefore, the required fraction =

VIKRANTADAD=MY"

Total number of parts shaded 1

) g S |
Hence, the required fraction is =

1

da | =

Ll | =

dw | W

O |

Page 5 of 69

Total number of parts E

www.vikrantacademy.org
Call: +91- 9686 - 08 - 3421




VIKRANTADAD=MY"

Solution:

We know that a fraction is a number representing part of a whole.

Here, the numerator represents the number of parts to be shaded. The denominator
represents the number of equal parts into which the whole figure has been

divided.

Therefore, the given fraction =

(A)

Number of parts to be shaded
Total number of equal parts

The given fraction is % which implies one part is to be shaded out of six

equal parts of the figure.

Total number of parts shaded 1
Total number of parts &

The given fraction =

= Total number of parts = 6
Total number of parts to be shaded=1

oY

Hence, the above figure is the required answer.

The given fraction is % which implies one part is to be shaded out of four
equal parts of the figure.

Total number of parts shaded 1

The given fraction = =
B Total number of parts 4

~ Total number of parts in the given figure=4
Total number of parts to be shaded=1
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(E)
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Hence, the above figure is the required answer.

The given fraction is % which implies one part is to be shaded out of three
equal parts of the figure.

. - Total number of parts shaded 1
The given fraction = - =
Total number of parts 3

= Total number of parts in the given figure = 3
Total number of parts to be shaded = 1

Hence, the above figure is the required answer.

The given fraction is ; which implies three parts are to be shaded out of
four equal parts of the figure.

Total number of parts shaded 3
Total number of parts T4

= Total number of parts = 4

The given fraction =

Total number of parts to be shaded = 3

Hence, the above figure is the required answer.

The given fraction is % which implies four parts are to be shaded out of
nine equal parts of the figure.

. . Total number of parts shaded 4
The given fraction = L = -

Total number of parts 9
-~ Total number of boxes = 9

Total number of boxes to be shaded = 4
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Hence, the above figure is the required answer.

Identify the error, if any.

This is . This is .
Solution:

We know that a fraction is a number representing part of a whole.

It is essential that the whole is divided into equal number of parts.

However, from the given figures, it is clear that they are not equally divided.
Hence, the given fractions are incorrect.

Therefore, the proper representation is as follows:

The given fraction is 2 which implies one part is to be shaded out of two equal
.
parts of the figure.

Total number of parts shaded _ 1
Total number of parts 2

The given fraction =

= Total number of parts=2
Total number of parts to be shaded=2
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Therefore, this represents %

The given fraction is % which implies one part is to be shaded out of four equal
parts of the figure.

. - Total number of parts shaded 1
The given fraction = - =-
Total number of parts 4

~ Total number of parts=4
Total number of parts to be shaded=I

Therefore, this represents i.

The given fraction is % which implies three parts are to be shaded out of four equal
parts of the figure.

. - _ Total number of parts shaded 3
The given fraction = =-
Total number of parts +

~ Total number of parts=4
Total number of parts to be shaded=3

Therefore, this represents ;

What fraction of a day is 8 hours?

Solution:
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Since a day is equally divided into 24 hours, and out of which we need to
represent 8 hours, the fraction will be

Number of hours 8 1

Total number of hours inaday 24 3

. - o 1
Hence, the required fraction is 5

What fraction of an hour is 40 minutes?
Solution:

Since an hour is equally divided into 60 minutes, and out of which we are to
represent 40 minutes, the fraction will be

Number of minutes 40 2

Total number minutes in an hour 5 60 3

Hence, the required fraction is §

Arya, Abhimanyu, and Vivek shared lunch. Arya has brought two sandwiches,
one made of vegetable and one of jam. The other two boys forgot to bring their
lunch. Arya agreed to share his sandwiches so that each person will have an equal
share of each sandwich.

(A) How can Arya divide his sandwiches so that each person has an equal
share?

(B)  What part of a sandwich will each boy receive?
Solution:

Arya will have to divide each sandwich into three equal parts and give one part of
each sandwich to each one of them.

Number of parts each of them receive 1

The required fraction =

Total number of equal parts E

Kanchan dyes dresses. She had to dye 30 dresses. She has so far finished 20
dresses.

What fraction of dresses has she finished?
Solution:

Given,

Total number of dresses = 30

Number of dresses finished = 20

. . Number of dresses finished 20 2
Fraction of finished work = ==
Total number of dresses 30 3
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2
Therefore, she has dyed - of dresses so far.

Write the natural numbers from 2 to 12. What fraction of them are prime
numbers?

Solution:

The natural numbers from 2 to 12 are as follows:
2,3,4,5,6,7,8,9,10,11,12 = 11

Out of these, the prime numbers are as follows:

2,3,5711 =5

. ! Count of prime numbers in the given range 5
Now, the required fraction = . e =

Count of natural numbers in the given range e

Hence, the fraction for the above prime numbers is %

Write the natural numbers from 102 to 113. What fraction of them are prime
numbers?

Solution:

The natural numbers from 102 to 113 are as follows:
102,103,104, 105,106,107,108,109,110,111,112,113 =12

Out of these, the prime numbers are as follows: 103,107,109,113 = 4

Count of prime numbers in the givenrange _ 4 1

Now, the required fraction = =
o i Count of natural numbers in the given range 12 3

. - il
Hence, the fraction for the above prime numbers is <

What fraction of these circles have X's in them?

QOO0
XRRIR

Solution:
Given,
Total number of circles = 8

Number of circles having X' = 4

Number of fractions having X in them _ 4

« The n:qu:red fraction = Total number of fractions B

i , . 4
Hence, the fraction of these circles is -
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Kristin received a CD player for her birthday. She bought 3 CDs and received 5
others as gifts. What fraction of her total CDs did she buy and what fraction did
she receive as gifts?

Solution:

Given,

Total number of CDs =3+ 5=8
Number of CDs purchased = 3

Number of CDs purchased 3

Fraction of CDs purchased = -

Total number of CDs

g

Fraction of CDs received as gifts =

Number of CDs received as gifts __ 5

Total number of CDs

8

Therefore, Kristin purchased and received CDs in the fraction of

= andE respectivel
B B p }r.

E' xercise 7 2

1. Draw number lines and locate the points on them:
113 4
@A) e
T+ 2 a7
B Faes
2 3 8 4
©) S5
Solution:
(A) Iiiiﬂ.n:n.l,l,iji
2'4"4"4

These points lie between 0 and 1.
The distance between 0 and 1 is divided equally into four parts.

1/4 2/4 3/4 4/4
-+ i t i i i i
=] 0 1
Therefore, the given points are located on the above number line.
(B) Given.%,é,%,%

These points lie between 0 and 1.
The distance between 0 and 1 is divided equally into eight parts.
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/8 38 TISY

“ : I L] T ; L ] |
-1 0 8 1
Therefore, the given points are located on the above number line.

(Cy Given,

[T ]
| o
| @
| e

r r ]

Since, = > 1 it is not possible to represent eight parts out of five.
5

These points lie between 0 and 2.

Hence, we divide the distance between 0 and 2 equally into eight parts.

- usys4s s
~] 0 | 2

Therefore, the given points are located on the above number line.

Express the following as mixed fractions:

20
3

(A)

(B) =

5
17

)

7
D) =
®
a5

e o

9

Solution:
Given, an improper fraction, the mixed fraction is represented as follows:

Quoti tRemainder
uotient——
Divisor

Note that the denominator divides the numerator.

(A)  Given, 23—0
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2
W— =6
Hence, the required fraction is 6%

(By Given, 15—1

Hence, the required fraction is E%
(Cy Given, ;

d
7) 17

-14

.
1-7—

1| W

] % . 3
Hence, the required fraction is 2>

(D)  Given, ?

S
5) 28
~25
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. i . 3
Hence, the required fraction is 5

(E)  Given,—

.

6

1
=]

19 1

6 6

Hence, the required fraction is 3%

(F)  Given, ";—5

e

-
—

9) 35
=27
_8

B
9 .

Hence, the required fraction is 3%

Express the following as improper fractions:

(A) ?;
(B) 52
(C) zg
(D) 102
(E) 92
(F) 82
Solution:

VIKRANTADAD=MY"

Given a mixed fraction, the improper fraction is obtained as follows:

(Whole x Denominator) + Numerator
Denominator

Page 15 of 69
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(A)  Given, 7=

3 (7x4)+3
4 4
28+3 31

. . . « 31
Hence, the required improper fraction is .

(B) Given, 5—?

6 (5x7)+6
i 7
_35+6 41

7 7

i z . . 41
Hence, the required improper fraction is —

(C)  Given, 2%

5 (2x6)+5
6 6

124591

T 6 il

- - - o
Hence, the required improper fraction is =

(D)  Given, 102

3 (10x5)+3
§T" 8§ ¥
50+3 53

=85 8§

. . . .. B3
Hence, the required improper fraction is =

(E) Given, 9;

3 (9%7)+3
- 7

_63+3 66

== =7

£ 3 . . 66
Hence, the required improper fraction is —
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(F)  Given, Bg

4 (8x9)+4
9 9
72+4 76

Hence, the required improper fraction is %

Exercise 7.3

1.

Write the fractions. Are all these fractions equivalent?

(A)

(B)

0000}l OO0 O O O 0000

O O Q0
0000110 OO0 @) O Q00

Solution:

(A)  From the given figure,

Number of parts shaded
Total number of equal parts

The required fraction is written as

Therefore, the fractions are:

B =

| b
o |
- e

r » r

We can observe that,
1x2
2% 2
1x3
2x3
1x4
2% 4

CO| = O] W d=] B2

Clearly, %,g,% are multiples of % They are obtained by multiplying the
numerator and the denominator of % by the same number.
Therefore, the given fractions are equivalent.
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(B)
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From the given figure,

Number of parts shaded

The required fraction is written as
Total number of equal parts

4 32 1 &

Therefore, the fractions are: —,-,-,—,—
12 9°46°3° 15

Clearly, these fractions cannot be obtained by multiplying the numerator
and the denominator of a fraction by the same number.

Therefore, the obtained fractions are not equivalent.

Write the fractions and pair up the equivalent fractions from each row.

(A)

)

,f,{fZﬂ

|Il e

i

i

i

ll
f

7

panm—

1 IlI |'I.

i

|
1L

1
|

I
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Solution:

Number of parts shaded

The required fraction =

Total number of equal parts

An equivalent fraction is obtained by multiplying or dividing both the numerator

and denominator of a given fraction.

The table below shows the pairs from the two sets that have equivalent fractions:

(A)  From the given figure,
z . : 1
The required fraction is -

(B)  From the given figure,
4 4+ 500
6 6+2 3
i i ol
Hence, the required fraction is -

(C)  From the given figure,
3 3+3 1
9 9+3 3
Hence, the required fraction is ;

(D)  From the given figure,
2 2+2 1

8 8+2 4

Hence, the required fraction is i
(E)  From the given figure,

The required fraction is%

(1) From the given figure,
6 6+6 1
18 18+6 3
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(iv)

(v)
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. i i
Hence, the required fraction is -

From the given figure,

4 A+48 1

B 8+4 2

Hence, the required fraction is %

From the given figure,
12 12+4 3
16 16+4 4

x # e
Hence, the required fraction is .

From the given figure,

8_EI+4_2
127 1254 3

Hence, the required fraction is %

From the given figure,
4 45501
16 164 4

i : T
Hence, the required fraction is -

Now, let us pair up the equivalent fractions as shown below:

(A)2 (ii) 5
(B)= (iv)5
(OF (i)
(D)< (V)5
(B)] (iii) 5
Replace O in each of the following by the correct number:
W -t
DRSS
© i-%

Page 20 of 69
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o -
18

©® 22

Solution:

By the concept of equivalent fractions, we have

(A)  Numerator of 8 is obtained by multiplying the given fraction by 4.
2 2x4 8

7 7x4 28
Therefore, the required answer is 28
(B)  Numerator of 10 is obtained by multiplying the given fraction by 2.
5 5x2 10
8 8x2 16
Therefore, the required answer is 16
(C)  Denominator of 20 is obtained by multiplying the given fraction by 4.
3 3Ix4 12
5 5x4 20

Therefore, the required answer is 12

(D)  Numerator of 15 is obtained by dividing the given fraction by 3.
45 45+3 15
60 60+3 20

Therefore, the required answer is 20

(E)  Denominator of 4 is obtained by dividing the given fraction by 6.
18 18+6 3
24 24+6 4

Therefore, the required answer is 3

Find the equivalent fraction of E having

A)  denominator 20

(

(B) numerator 9
(C)  denominator 30
(D) numerator 27

Solution:
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(B)

(D)
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i 3
Given, —
5

Denominator of 20 is obtained by multiplying the given fraction by 4.
3 3x4 12

5 5x4 20

3 ’ . 12

Hence, the equivalent fraction is =
. 3
Given, -
5

Numerator of 9 is obtained by multiplying the given fraction by 3.
2 _Zad g

5 5x3 15

- . . 9

Hence, the equivalent fraction is &
. 3
Grven, &

Denominator of 30 is obtained by multiplying the given fraction by 6.
3 3x6_ 18

5 5x6 30

. i - 1B

Hence, the equivalent fraction is —
Z 3
Given, —
5

Numerator of 27 is obtained by multiplying the given fraction by 9.

3 3x9 27
5 5x9 45

: . - 27
Hence, the equivalent fraction is —

Find the equivalent fraction of E with:

(A) numerator 9
(B) denominator 4
Solution:

u 36
(A) Given, e

Numerator of 9 is obtained by dividing the given fraction by 4. Therefore,
36 36+4 9
48 48+4 12
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i i . 9

Hence, the equivalent fraction is —
Z i6
Given, —
48

Denominator of 4 is obtained by dividing the given fraction by 12.
Therefore,

36 36+12 3
48 48+12 4

3 y v i
Hence, the equivalent fraction 1s "

Check whether the given fractions are equivalent:

5 30
{‘ﬁi'} E-;
3 -1z
7 5
<) e
Solution:
[]'hﬂf:n,E,ﬂ
9 54
30 | 5%6
54 9x6

Since = is obtained by multiplying numerator and denominator of Zby 6
54 9 -

5 30 .
Therefore, —, — are equivalent.
O 54

(B)

(C)

. 3 3F
Gven, —,—
10 50

If the given fractions are equivalent, the product obtained by cross
multiplication must be equal.

By cross multiplying the following fractions: %.E

3x50=12x10
But clearly, 150 = 120

3 12 ’
Therefore, 5 5g ATC not equivalent.
i 7 5
Given, —,—
13 11

If the given fractions are equivalent, the product obtained by cross
multiplication must be equal.
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By cross multiplying the following fractions: 1—?3,%
7x11=13x5
But clearly, 77 # 65

7 5 L
Therefore, TR not equivalent.

Reduce the following fractions to simplest form:

(A)
(B)
(C)
(D)

(E)

48

=11
150

60
B4

et
12

52
7

28

Solution:

(A)

(B)

(C)

v 48
Given, —
&

The HCF of the given numerator and denominator is 12. Hence, we divide
both the numerator and the denominator by 12 to obtain the simplest
fraction.

48 48+12 4

60 60=12 5

Hence the simplest form of the given fraction is %.
Given, —
a0

The HCF of the given numerator and denominator is 30. Hence, we divide
both the numerator and the denominator by 30 to obtain the simplest
fraction.

150 150+30 5

60 60=30 2

Hence the simplest form of the given fraction isg
Given, —
98

The HCF of the given numerator and denominator is 14. Hence, we divide
both the numerator and the denominator by 14 to obtain the simplest
fraction.
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84 B4+14 6
g 9814 7

Hence the simplest form of the given fraction isg
Given, 2%
52

The HCF of the given numerator and denominator is 4. Hence, we divide
both the numerator and the denominator by 4 to obtain the simplest
fraction.

12 12+4 3

52 52+4 13

Hence the simplest form of the given fraction is:l—z3
Given, —
2B

The HCF of the given numerator and denominator is 7. Hence, we divide
both the numerator and the denominator by 7 to obtain the simplest
fraction.

]

28 28+7 4

Hence the simplest form of the given fraction isfi

Ramesh had 20 pencils. Sheelu had 50 pencils and Jamaal had 80 pencils. After 4

months

., Ramesh used up 10 pencils, Sheelu used up 25 pencils and Jamaal used

up 40 pencils. What fraction did each use up? Check if each has used up an equal
fraction of her/his pencils?

Solutio

Ramesh:

Total number of pencils = 20

Pencils

Required fraction =

Sheelu:

used = 10

Pencils used O || EERR | 1 Lo L SR |

Total number of pencils he had T 20 20=10 2

Total number of pencils = 50

Pencils

Required fraction =

lamaal:

used = 25

Pencils used T | L

Total number of pencils she had " 50 50=25 2
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Total number of pencils = 80

Pencils used = 40

Pencils used __ 40 4040 1

Total number of pencils he had T BO BO=4D 2

Required fraction =

We can observe that, the fractions of the pencils each one of them are equivalent.
Hence, each of them has used the same up the same amount of pencil.

Match the equivalent fractions and write two more for each.

H= |3

400

180

(i) ~= {B)§

660

(i) = | (0=

(V)  |(D):2

220 9
W= |®=

Solution:

: = 250

(1) Given, —
400

250 _ 250+50 _
400  400+50

5 o —

- [ HCF = 50]
Two more equivalent fractions are:
5x2 10

8x2 16

5x3_15
8x3 24

15

5 - - 10
Hence, the required equivalent fractions are ¥ and o

s 5 180
(11) Given, —
200
180 _ 18B0<20 _ 9
200 20020 10

[ HCF = 20]

Two more equivalent fractions are:

9x2 18
10%x2 20
9%3 27
10x3 30
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(v)
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. z s 18 27
Hence, the required equivalent fractions are —and —
20 3o

% 660
Grven, —
Q90

660 _ 660+330 _

=30 = 2 HCF = 330]
990 990+330 3

Two more equivalent fractions are:

2x2 4
3x2 6
Z2x3 6
3x3 9

. . . 4 -]
Hence, the required equivalent fractions are = and -

. 180
Given, —
360

180 _ 1B0+180 _
360  360+180

1 s —
[+ HCF = 180]

Two more equivalent fractions are:

1x2 2
2x2 %
1x3 3
2x3 6

i & . 2 3
Hence, the required equivalent fractions are - and -

i 220
Given, —
550

220 Zz0+110 = % [... HCE = llﬂ]

550 550+110

Two more equivalent fractions are:

2x2 4
5x2 10
2x3 6

5x3 15

&

. . . 4
Hence, the required equivalent fractions are W and -

250 o
400

180 s
(E)

200
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660 | ()3
990
i G (5
360
29 @)
550

Exercise 7.4

1.

Write shaded portion as fraction. Arrange them in ascending and descending order
using correct sign ' < '," ="," > " between the fractions:

(a)

(c)  Show E,%,g and E on the number line. Put appropriate signs between the
fractions given.

h 2 3 1 :

=8 B =0 B

6 & & 6B & 6 &

Solution:
We know that a fraction is a number representing part of a whole.

Here, the numerator represents the number of parts to be shaded. The denominator

represents the number of equal parts into which the whole figure has been
divided.
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Number of parts that are shaded

Therefore, the given fraction =
Total number of equal parts

Al
LY

8

(A)

3
8

From the figure given, we observe that the total number of parts are equal.
ie. 8.

The number of shaded parts are 3, 6, 4 and 1 respectively.

Therefore, we obtain,

3641

8'8'8'8

We see that these are like fractions (fractions with same denominator)

In like fractions, the fraction with greater numerator is larger.

So we obtain,
Ascending order: L R
B a8 B a8

Descending order: N s>1e
B 8 8 B

8 4
9

O | w

g
9

From the figure given, we observe that the total number of parts are equal,
Le., 9.

The number of shaded parts is 8, 4, 3 and 6 respectively.
Therefore, we obtain,
www.vikrantacademy.org
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WO o

43
Jg!gl

Li=H =]

We see that these are like fractions (fractions with same denominator)
In like fractions, the fraction with greater numerator is larger.
So, we obtain,
Ascending order: e
o 9 9 9
Descending order: Bofs 8.2
9 9 o 9

Number line

We see that all the given fractions have the same denominator, i.e., 0,

So, we divide the number line between 0 and 1 into 0 equal parts.

0 1 2
l 1 l ] ] L ] I
—1 1 1 1 — L
1 3 5 7 9 10 11 12
& [a] 6 & 6 6 6 6

In like fractions, the fraction with greater numerator is larger.

So, we obtain,

)

W
(3 = N I T = T = I

0 o W SN = SN

[=3]
=]

Compare the fractions and put an appropriate sign.

(a)
(b)

3 5
_D_
6 6
T _ 1
_D_
AR
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0 o
Solution:

. 3 5
(a) Given,-0O-
G =1

Here, we see that the denominator is same,

So, the fraction with larger numerator is greater.

Therefore, 2 < 2
& (]
(b) Given, Il
y S |
Here, we see that the denominators are different,

So, we have to cross multiply.

11
7%

1x401x7

407

As 4 is lesser than 7,
4 <7

Therefore, as L.H.S. is smaller.
1 1
Hence, we get - < -
7
(c) Given, 202
5 4
Here, we see that the denominator is same,
So, the fraction with larger numerator is greater.
Therefore, i
5 5
(d) Given, It
5 7
Here, we see that the denominators are different,

So, we have to cross multiply.
3 3
—4 D_

57
IxTo3 x5
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21015
As 21 is greater than 15,

21>15
Therefore, as L.H.S. is gr-:ater.g > %

Make five more such pairs and put appropriate signs.

(& =>=
1.1
o
11
€ §5s
o <t
11350
(e) 1
Solution:

= 9 [
(a) Given, —O0—
10 10

Here, we see that the denominator 1s same,

So, the fraction with larger numerator is greater.
Therefore, — > —
10 10
(b)  Given,~o~
i 6

Here, we see that the denominators are different,

So, we have to cross multiply.

1 1

376

1x601x3

603

As 6 is greater than 3,
6>3

Therefore, = et
3 [

¥ 1 1
(c) Given, -0O-
B 5

Page 32 of 60

VIKRANTADAD=MY"

www.vikrantacademy.org
Call: +91- 9686 - 08 - 3421




VIKRANTADAD=MY"

Here, we see that the denominators are different,

So, we have to cross multiply.

1 1
_D_

B85

1x501 %8

508

As 5 is lesser than 8,
5<8

Therefore, L.H.S. 1s lesser.
Hence, s
8 5
. T 11
(d) Given, -O0—
8 8
Here, we see that the denominator is same,
So, the fraction with larger numerator is greater.
T 11
Therefore, - < —
g g
(e) Given, —o—
13 13
Here, we see that the denominator is same,
So, the fraction with larger numerator is greater.
Therefore, — > —
13 13

Look at the figures and write “<'or’>","=" between the given pairs of
fractions.
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er—- —

l.p-'lll— 1
wa|es —

o= —
e —
& fus—

|t =i
o | s
Lh | —

o |wie (&la jwiaes |ms =l ]
oy e il mlal ] wlwl drfm L] —]—

=
ot —
s —
o |b —i
o | —

O

(a)
(b)

O

(c)
(d)

O

MmN mm WK W o=
WM wWis e b e

(¢)
Make five more such problems and solve them with your friends.

Solution:

(a) Given,~o=
[ 3
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| |
[i] 1
1 1
| I |
0 1 2
2 2 2
| | | I
0 1 2 3
3 3 3 3
| I | I |
0 1 2 3 4
'y 4 4 4 4
I I I I | I
0 1 2 3 4 3
5 5 5 5 3 3
I I I I I [ |
0 1 2 3 o 2 6
(3] [ & 6 3] [ &

As~is to the left ufl,

& 3

1 is lesser than E,

& 3

Therefore, = < 2

& 3
Given, 202
3 &

| |
[} 1
1 1
| I |
0 A 2
2 2 F
| I | I
0 1 2 3
3 3 3 3
| I | I |
0 1 2 3 4
aq 4 4 4 4
| I I I | I
o 1 2 3 4 2
5 5 5 5 5 3
| I | | I I I
o 1 2 3 4 3 6
3] 6 G 6 5] G &

As 2 is to the right of 2,
4 &
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(c)

2. 2
5 Is greater than -

Therefore, it - =
4 [
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GiVEﬂ,EDE
3 3
l l
] 1
1 1
| |
0 1 2
2 2 2
[ | | I
0 1 2 3
3 3 3 3
I I | | |
0 i 2 3 4
4 4 4 4 4
| I i | | I
[} 1 2 2 4 3
5 5 5 5 3 5
l I | i I | |
2 1 2 = 5 ) 6
6 6 [ 6 6 [ 6

As% is on the right of i,
2 - 2
31 greater than -

2 2
Therefore, . > 3

=3

. 3
Given, - I:I;

3]
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| |
0 1
1 1
| | |
9 L 2
2 2 2
| | | |
0 1 2 3
3 3 3 3
| I | | |
0 1 2 3 4
'y 4 4 4 3
J I I | | |
0 1 2 3 4 3
5 5 5 3 5 3
] I | l I [ |
9 1 2 El .5 3 5
6 6 6 6 6 6 6

Asgis on the same line as ; they are equal.

Therefore, P

=] 3
Given, 2
65

| |
2 1
1 1
| | |
o 1 2
2 2 2
| | | |
L] 1 2 3
3 3 3 3
| | l 1 |
0 1 2 3 4
3 4 4 4 3
| l | I | |
0 1 2 3 ] 2
5 5 5 5 5 3
| | | | I | |
0 L 2 3 4 3 6
6 ] 6 6 3] 6 O

Asz is on the left of EE is lesser than E

5 5
Hence, — < =
& 5
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Five more such problems:

(@ ;o2
® o
© 3o
@ o
© 2o
Solution:

(a) Given, ~o2
26

As < is on the same line as =, they are equal.
2 [

Therefore, -~ = 2
2 6
(b) GivenZp2
3 5
A 5 e 3
As - 1s on the right of —, - is greater than -
3 53 = 5
Therefore, LS
3 5
(c) Given, 2o
e &
Asis on the right of 2, 2 is greater than A
4 & 4 &
Therefore, i
4 [

(d) Given, El:é

=3

L s 2
As Zison the left of S i lesser than E

Therefore, Z < S

=

(e) Given, — EI%

(=

0 - . ]
As T is on the same line as = they are equal,

o 0
Therefore, s

How quickly can you do this? Fill appropriate sign.
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@ ol
o ol
© o
(d) 3.:2
O ek
(f) %nz
(@ 3o
0 55
R
0 se
) Jog

Solution:

. 1 1
(a) Given,—0O-
2z 5

Here, we see that the denominators are different,

So, we have to cross multiply.

1 1
_D_

25
1x501x2

502
As 5 is greater than 2,
a2

Therefore, as L.H.S. is greater.
Hence, = > =
2 5

(b) Gi‘w’E‘I'I.EEIE
4 &

Here, we see that the denominators are different.

So, we have to cross multiply.
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2x603 x4

12012

12 =12

Therefore, as L.H.S. is equal to R.H.S.

Hence, i = E

Given, E I:I%

Here, we see that the denominators are different,

So, we have to cross multiply.

3

593

3x302%5

9o10

As 9 is lesser than 10,
9<10

Therefore, as L.H.S. is lesser.

3 2

Hence, = < =

5 3
. 3.3
Given, — 0O~
4 a

Here, we see that the denominators are different,

So, we have to cross multiply.

1x501x%x2

502

As 5 is greater than 2,

h>2

Therefore, as L.H.S. is greater, we get,
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3 2

4 B

Given, > o5
5 5

Here, we see that the denominator is same,

So, the fraction with larger numerator is greater.
3 (=]
Therefore, - < -
5 5
) A
Given, —0O-
9 9
Here, we see that the denominator is same,
So, the fraction with larger numerator is greater.

7 |
Therefore, % e =

. y e |
Given,—-Oo-
4 8

Here, we see that the denominators are different,
So, we have to cross multiply.

1 2

48

1x8Bo2 x4

808
8=8
Therefore, as L.H.S. is equal to R.H.S.

Here, we see that the denominators are different,

So, we have to cross multiply.
6 4
105

6x504 x 10
3040
As 30 1s lesser than 40,
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30 <40

Therefore, as L. H.S. is lesser.
Hence, & < 2
10 4
Given, i
4 8
Here, we see that the denominators are different,

So, we have to cross multiply.

3x807 x4

24028

As 24 is lesser than 28,
24 < 28

Therefore, as L.H.S. is lesser.
Hence, = < i
4 8
Given, L
10 5
Here, we see that the denominators are different,

So, we have to cross multiply.
6 3
1075
6 x 503 x 10
30030
30 =30
Therefore, as L.H.S. is equal to R.H.S.
Hence, % = ;
Given, ; DE
Here, we see that the denominators are ditferent,
So, we have to cross multiply.
I B

7721

www.vikrantacademy.org

Page 42 of 69 Call: +91- 9686 - 08 - 3421




VIKRANTADAD=MY"

5x21015x7

1050105

105 = 105

Therefore, as L.H.S. is equal to R.H.S.

5 15
Hence, - = —
7 21

The following fractions represent just three different numbers. Separate them into
three groups of equivalent fractions, by changing each one to its simplest form.

(@) =

b) =
(© =
@
() =
@ =
®
h) =
i =
QM =
k) =
O =
Solution:

. 2
(a) Given, =

Dividing numerator and denominator by 2, we get,
2+2 1

1227 6

Therefore, the simplest form is %
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i 3
Given, —
15

Dividing numerator and denominator by 3, we get,
3+3 1

15+3 5

Therefore, the simplest form is %
Given, —
50

Dividing numerator and denominator by 2, we get,
8+2 4
50+2 25

Therefore, the simplest form is é

Given, %

Dividing numerator and denominator by 2, we get,
16+2 B8

100+2 50

Further dividing numerator and denominator by 2, we get,
82 +

50-2 25

. Aot

Therefore, the simplest form is -
o 10
Given, —
=11

Cancelling the zero from the numerator and denominator, we get,
10 1

60 6
Therefore, the simplest form is%

. 15
Given, —
75

Dividing numerator and denominator by 3, we get,

15+3 5

75+3 25

Further dividing numerator and denominator by 5, we get,
5+5 1

25+5 5

www.vikrantacademy.org

Page 44 of 69 Call: +91- 9686 - 08 - 3421




(J)

VIKRANTADAD=MY"

Therefore, the simplest form is%

Given, 5

Dividing numerator and denominator by 2, we get,
12+2 6

60+2 30

Further dividing numerator and denominator by 2, we get,
62 3

B00+2 18

Again, dividing numerator and denominator by 3, we get,

3+3
15+3

2

5

i + X

Therefore, the simplest form is A
§ 16
Given, —
a5

We can simplify the given fraction as follows,
16+2 8

96 +2 48
8+2 - 4
48+2 24
42 " 2
<2 12
2+2 1

T

Therefore, the simplest form is%
Given, —
75
Dividing numerator and denominator by 3, we get,

12+3 4
75+3 25

= . 4

Therefore, the simplest form is —
Z 12
Given, —
72

We can simplify the given fraction as follows,
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12+2 6
252 36
6+2 3
36<2 18
3+3 _1
18+3 6

Therefore, the simplest form is%
Given, —
18

Dividing numerator and denominator by 3, we get,
3+3 1

183 6

Therefore, the simplest form is%
Given, il
25

As there are no common divisors for the numerator and denominator, it
cannot be simplified further,

Therefore, the simplest form is é
Equivalent groups:

Tgroup: = [(b). (D), (2)]

11 group: —; [(a). (e). (h), (). (k)]

111 group: é [(c). (d). (i), (D]

Find answers to the following. Write and indicate how you solved them.

(a) ]sgequai Eﬂ%?
(b) ]s%equal to g‘?
(c) ]s%equal mg?
(d) Is % equal to 310 ?
Solution:

(a)

v 5 4
Given, —and -
g9 s
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-

Rl |lw]|e
= lwv || w

Common denominator = L.C.M of5and 9
Common denominator= 3 X3 x5

Common denominator = 45

5x5 25
=— N
Qx5 45

d22 =381 L.CM. of 9 and 5 is 45]

5x9 45
y 25 Ll
Since, — # —
45 * 45
5 4
Therefore, — # —
9 5
Hence, they are not equal.

. 9 5
Given, —and -
16& 9

2 116,99
2| 8 9
2] 4,9
21 2,9
3119
51 1.8

1, 1

Common denominator = L.C.M of 16 and 9
Common denominator= 2 X2 x2x2x3x3

Common denominator = 144

9x9 Bl

5x16 _ BO
16x9 144

9x16 144
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. 81 a0
Smnce, — #+ —
144 144

Q 5
Therefore, — % -

16 9
Hence, they are not equal.

. 3 16
(c) Given, —and —
5 20

2 | 5,20
e | 510
515 8

L 1

Common denominator = L.C.M of 5 and 20
Common denominator = 2 X 2 X 5

Common denominator = 20

4x20 _ 8O 16x5

= 22 [+ L.C.M. of 5 and 20 is 100]

= an
Sx20 100 20%5 100

i 80 a0
Since, — = —
100 100

16

4
Therefore, - =—
5 20

Hence, they are equal.

(d) Given, Land X
15 30

2 115, 30

3 |15, 15

2 |8 &
1 1

Common denominator = L.C.M of 15 and 30
Common denominator = 2 X3 x5

Common denominator = 30
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1x%2 2z 4x1

= =—and—— = [+ LC.M. of 15 and 30 is 30]

15x2 30 30x1

Since, — # —
30 " 30
1 4
Therefore, — + —
15 an
Hence, they are not equal.

Ila read 25 pages of a book containing 100 pages. Lalita read E of the same book.
Who read less?

Solution:
Given,
Ila reads 25 pages out of 100 pages,

2 : 25
Fraction of reading the pages = —

i 2555
Fraction read =
100=5
= 5=5
Fraction read =
2045

Fraction read %th part of the book

Lalita read %th part of book
We have to find out who read less.
S0,

Since the denominators are different, we need to make the denominators same by
finding their common denominator.

R
S

Common denominator = L.C.Mof4and 5
Common denominator = 2 X2 X 5
Common denominator = 20

Now,
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1 1xX5 5
4 4x5 20
2 2x4 8
5 Sx4 20
S1nce—u-:%

Therefore, Y ®
4 5
Hence, Ila read less.

. 3 . . . 3
Rafiq exercised for = of an hour, while Rohit exercised for - of an hour. Who
exercised for a longer time?

Solution:
Given,

1 3
Rafiq exercised 2 of an hour.

Rohit exercised % of an hour.

Now, we have to compare these fractions to see who exercised for a longer time.

So, since the denominators are different, we need to make the denominators same
by finding their common denominator.

2 16,4
218, 2
3 |38 %

: P

Common denominator = L.C.Mof4and 6
Common denominator = 2 X 2 X 3

Commeon denominator = 12

Now,

3 3Ix2 b
6 6x2 12
3 3x3 9
4 4x3 12
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33{3
6 4

Therefore, Rohit exercised for a longer time.

10.  Ina class A of 25 students, 20 passed with 60% or more marks; in another class
B of 30 students, 24 passed with 60% or more marks. In which class was a
greater fraction of students getting with 60% or more marks?

Solution:

Given,

i 20
In class A, 20 passed out of 25, Le.—

. Z20+5
Fraction passed = —
Z25+5

Fraction passed = g

‘ 24
In class B, 24 passed out of 30, i.e., e

2 242
Fraction passed = —
25+2

. 12+3
Fraction passed = —
15+3

Fraction passed = E

Hence, each class have same fraction of student getting with 60% or more marks.
Exercise 7.5
1. Write these fractions appropriately as additions or subtractions:

(a)
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pOO| |[0O@O

Solution:

(a)

(b)

(c)

From the given figure,
By adding we get,

o HEEY

1 2
5 + 5

1.2 142 3

5 § A S

Hence, the required fraction is %
From the given figure,

By subtracting we get,

2
5

5 3 5-3 2

5 & B 5

Hence, the required fraction is E

From the given figure,

By adding we get,
00| |08 0O
OO O O
IR
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2+3_ L,
6 6 N

" - vy
Hence, the required fraction is =

Solve:

(1) —+=—
b —+=
© -2
@ S+
(@ ——=
® S+
© 1-2(1=)
B 4
@ 3=
Solution:

(a) Given, — + —
18 18

1 . 1 1+1
RETRET T,
y.a 2
B 18 18
1 1 1

BT1E~9

Therefore, the required fraction is%
(b) Given, — + —
15 15

8 3 8+3

TR T A T
B S

15 15 15

Therefore, the required fraction is E
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(c)

(d)

(&)

Given.%—g
7 5 7-5
il
5 2
W 9

Therefore, the required fraction is%
Given, Sk
22 22
1 21 _1+21
RosTan Tl 22

e I
22 2z 22

1

Therefore, the required answer is 1

Therefore, the required fraction isg
Given, =+~
8
B 8

Therefore, the required answer is 1

= 2
Given, 1 —-
3
2 3 2
ST
3 3 3
2 3=2
=1—=-=—
3 2
2 1
21-2=1
3 3

Therefore, the required fraction isi

% 1 ]
Given, -+ -
3 4
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_1+0

4

= -+

==+

o e o e
=z &

¥
3

. . AR |
Therefore, the required fraction is F

(1) Given, 3 —1—;

12 15 12
TS T e B
12 15—12
B3- =
5 5

Therefore, the required fraction is%

Shubham painted % of the wall space in his room. His sister Madhavi helped and

painted % of the wall space. How much did they paint together?

Solution:
Given,

2

Fraction of wall painted by Shubham = -

3

Fraction of wall painted by Madhavi = §

1 " _ 2 1
Total painting by both of them = - + =

=Total painting by both of them = %

=Total painting by both of them = ; =1

Hence, they painted the complete wall together.

Fill in the missing fractions.
7 3
@ H-Ll=5
3 5
® [I-5=5

21 21
© O-3=

5 12
O [+5=3
Solution:
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(b)

(c)

(d)

Thus, the missing fraction is * (= 5)
10 5

3 3
=%
LE.

- . . « B
Hence, the missing fraction is - = 1

5 5 12
Gven, +—=—
I:[ 27 27
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Thus, the missing fraction is £
27

5. Javed was given % of a basket of oranges. What fraction of oranges was left in the
basket?

Solution:
We know that, Total = 1
Given,

Fraction of Orange with Javed = ;

~ Fraction of Orange left = 1 —;

Fraction of Orange left =

e I R
=1 ]

Fraction of Orange left = %5

Fraction of Orange left = %

Thus. %basket of oranges is left.

C s -
LXCTCISG 0

1. Solve
2 1
A %7
3 7
(B) E+E
(C) +

=+
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w5
W 3434
O i
) 1%
(L) 4:+3-
M) -3
™ 32

Solution:

(a) Given, =4 =
3 7
To add two unlike fraction, we first find the L.C.M. of their denominators.

LCM.of3and 71is 21
2 1 2x7+4+1x3

“FTT R 21
_14+3 17
T 21 @l

Hence, the required fraction is %
(b) Given, > + —
10 15
To add two unlike fraction, we first find the L.C.M. of their denominators.
L.C.M.of 10 and 15 is 30
3,7 _3x3 J7x2
"0 15 10%3 15X 2
3x3+7x2
- 30

_9+14 23
T30 30

Hence, the required fraction is %
(c) Given, 242
9 7

To add two unlike fraction. we first find the L.C.M. of their denominators.
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L.C.M.of9and 7 is 63

4 2 4x7 2x9
9T 7 5 9x7 T 7x9
4xT7+2%9
63
_28+18 _146
63 63

Hence, the required fraction is g
Given, 2+ 2
7 3
To add two unlike fraction, we first find the L.C.M. of their denominators.

LCM.of 7and 3is 21

B 1 H%3 Ix7

“Tt3 T 7x3"3x7

53?1
21

_15+7 22 i 1
21 il

Hence, the required fraction is 1%
Given, TR
5 ]
To add two unlike fraction, we first find the L.C .M. of their denominators.

L.C.M.of 5and 615 30
2 1 2x6 1x5

5T 5x6 ok
2Xb6+5x1

= 30
1245 17

30 30

. . . 17

Hence, the required fraction is ——
Z B 2
Given, -+ -
5 3

To add two unlike fraction, we first find the L.C .M. of their denominators.

LCM.of5and 3is 15
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4 2 4x3 2X%5
573 5%x3 3x5
_4X3+23<5
B 15
12410 22 7
“T4g 15 15

5 F . 7
Hence, the required fraction is 1

i 3 1
Given, - ——
4 3

To subtract two unlike fraction, we first find the L.C.M. of their
denominators.

LCM.of4and3is12
3 1 3x3 1x4

"4 3 4x3 3Ix4

Ix3—4x1
- 12
~9-4_ 5
ET

. . : 0

Hence, the required fraction is ;-
. 5 1
Given, — — -
2] 3

To subtract two unlike fraction, we first find the L.C.M. of their
denominators.

LCM.of6and3156
5 1_5x1 1x2

“% 3 6x1 3x2
_5x1—2x1

. - o 1

Hence, the required fraction is 3
: 2 3 1
Given, —+-—+-
3 3 2

To add three unlike fraction, we first find the L.C.M. of their
denominators.
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LCM.of3,4and 2 is 12

2 3 1 2x4 3IxXx3 1%X6
3tttz axataxztIxe
2Xx4+3x3+1x6
- 12
_6+9+6 23 11

12 2112

Hence, the required fraction is 1 %
Given, = 4+ = 4~
2 3 &

To add three unlike fraction, we first find the L.C.M. of their
denominators.

LCM.of2,3and6is 6
i ¢ 1_1X3 1x2 1x1

“2%8 " B 3x2 6x3
_1x3+1X2+1x1
N 6

_3+2+1 6

6 6

Hence, the required answer is 1

Given, 1143%
3 3
Converting the given mixed fractions to improper fractions:

(Whole x Denominator) + Numerator

Denominator

e
3 3 3 3

Since, the denominators of the given fractions are equal (L.C.M. of 3 and

3 1s 3). we add the numerators to obtain the answer.

4 11 4+11 15

"3+3 3 3

Hence, the required answer is 5

5

Given, §ipgt
3 +

Converting the given mixed fractions to improper fractions:
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(Whole x Denominator) + Numerator

Denominator
Z 1 14 13

To add two unlike fractions, we first find the L.C.M. of their
denominators.

LCM.of3and 4is 12

14 13 14%x4 13x3
*3 V¥ 3 =axa taxs
14 x4 +13x3

- 12

56+39 95 11
=—12 12 '12

A . % 11

Hence, the required fraction is 7 3
. 1a 7
Given;—s=
5 5

Like fractions have same denominator (L.C.M. of 5 and 5 is 5)

16 7 Vi —1
55 Ul
9 4

3 i . 4

Hence, the required fraction is 1-
" E) 1
Given, - —-
3 2

To subtract two unlike fractions, we first find the L.C.M. of their
denominators.

LCM.of3and2is6

4 1 4x2-1x3

32 6
8-3 5

- ~6

6

1 - o b
Hence, the required fraction is -

Sarita bought E metre of ribbon and Lalita i metre of ribbon. What is the total
length of the ribbon they bought?
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Solution:

Given,

Length of the ribbon bought by Sarita = Em
Length of the ribbon bought by Lalita = ;m
Total length of ribbon = 242

5 4
=23 4 3O - L.C.M. of 5 and 4 is 20]

T Sx4  4x5

= ZATPE - L.C.M. of 5 and 4 is 20]

20

_8+15_23_ 3
=~20 20 ~20™

Therefore, they bought I%m of ribbon.

Naina was given 1% piece of cake and Najma was given 1% piece of cake. Find
the total amount of cake was given to both of them.

Solution:

Given,

Fraction of cake given to Naina = 1%
Fraction of cake given to Najma = 1%

Total amount of cake given to them = 1% + 1;

_3+4
-
3x3 4x2
= +—
2x3 3x2

=3x3+4m2

— [+ L.C.M. of 2 and 3 is 6]

9+8 17 5
== 2_

6 6 6

Therefore, the total amount of cake given to them= 2 g.

Fill in the boxes:

@ [-3=1
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1 1
(B) ~:73
1 1
© -LI=
Solution:
. 5 1
(A) Gwen.l:[—g—z

. 5
Ll=3+3

245 7

8 8

Hence, the required answer isg

(B)  Given, l:[—i =%
[]=l+l
2 5

542 7

10 10

i T

Hence, the required answer is —
] . 1 1
(C)  Given, e |:| =

[[J=l-

.
2

6 6 3

| =

. o |
Hence, the required answer is =

Complete the addition-subtraction box.

(A)
4®_,,
22
3 3
I 2
Q7|3
Y
(B)
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ol [wl-[®

W] | ra]|=

©

A\

Solution:

From the given figure,

2
+

+
| b L

La| = L
W L LAl o

'

L..-J'll-\-J ‘u-'ll-h

LI = LI M
|

LI b2 L] =
Il

LI B LI

i

| o= 'uala—- '-.n-rlld
(FL L] Hlm ul_{h

Now,2—1=1
Also,~+2=1
3 3
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i

214
5| 3| *
1 | 2
ol el
[ 2
331

Therefore, the completed box is given as above.

From the given figure,
O - C i

273576 "%
1+1_4+3_?
3 4 Sl aP
1 1 3-2 1
2 3 6 6
1 1 4-3 1
374 TUn
L|LI|®
p. 3 6
A
3 4 12
S
6 12
1 1 241 1
& 12 12 4
ol | B
2 3 6
al.El2
3 4 12
AENE
[ 12 4

Therefore, the completed box is given as above.

A piece of wire 7 metre long broke into two pieces. One piece was 2 metre long.
r B - 4
How long is the other piece?
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Solution:

Given,

Total length of wire = %meter

1
Length of first part = — meter

Remaining part=Total length of the wire - Length of the first part
7 1

=224 [+ L.C.M. of 8 and 4 is 8]

7-2 _§
= — = —meter
8 8

Therefore, the length of remaining part is 2 meter.
a8

Nandini’s house is % km from her school. She walked some distance and then
took a bus for

% km to reach the school. How far did she walk?

Solution:
Given,

Total distance between school and house = 1% km

1

Distance she travelled by bus = = km

Therefore, the distance she walks = % —%

_ 9m1-1x5

[ L.C.M. of 10 and 2 is 10]

" 10
2

Hence, the distance covered by walking us % km

Asha and Samuel have bookshelves of the same size partly filled with books.
Asha’s shelf is
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gth full and Samuel’s shelf is %th full. Whose bookshelf is fuller? By what
fraction?

Solution:

Given,

Asha’s hmkshelﬂsgth full

Samuel’s bookshelf is %th full

In order to compare the two fractions, we find their equivalent fractions with same
denominator.

5 5 25
DN

65 30
Also.ZX2==[+L.CM.of 6 and 5 is 30]

25 B 12
307 30
R 2

=
6 5

- Asha’s bookshelf is more covered than Samuel’s.
s 25 12 13
Difference = — —— = —
30 3o 30
% . ’ ; 13
Hence, Asha’s bookshelf is more covered than Samuel’s by a fraction of o

Jaidev takes 2 % minutes to walk across the school ground. Rahul takes ; minutes
to do the same. Who takes less time and by what fraction?

Solution:

Given,

SxZ+1l

Time taken by Jaidev = 2; minutes = % minutes

Time taken by Rahul = E minutes

In order to compare the two fractions, we find their equivalent fractions with same
denominator.

11 11x4 44
5 5x%x4 20
7x5 35
4x5 20

7
4
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11
:_

5

Therefore, Rahul takes less time.

Difference = % —; = % [+ L.C.M. if 5 and 4 15 20]

_ 44-35
20

Sim:n:.ﬁ g
20 20

= 7

4

9 .
= — minutes
20

Thus, Rahul takes ;—ﬂ minutes lesser than Jaidev.
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